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SECTION A — READING (5 MARKS)

1. Read the following passage carefully.
ECO - FRIENDLY PAPER

Handmade paper is an eco - friendly product and the demand for it is growing rapidly
in the world. It is considered the best form of recycled paper. Not only does it have an
elegant and exquisite surface for writing but also is very strong and indestructible.
Artists find that it has an unmatched texture for drawing. It also helps in preventing
water, land and air pollution. Very small quantities of chemicals are used in its
preparation. Paper manufacturing has been one of the traditional industries of the
world since its invention in China dates back to 105 AD. The Indians probably used the
paper made from cellulosic fibres during the third century AD. Before this period the
leaves of palm trees were used in India. Papyrus, a kind of paper made from a reed of
the same name that grew on the banks of the River Nile, was used in Egypt. The
handmade paper industry which flourished in India during the Mughal period declined
with the establishment of paper mills in the 18th and 19th centuries. Inspired by
Mahatma Gandhi it was revived during the freedom movement.

1.1. Based on your reading complete the following sentences.

Handmade paper is popular nowadays because

a
b. Artists approve it for drawing because

c. Environmentalists call it eco-friendly because

d. Handmade paper industry suffered a decline in 18th and 19th century because ---------

e. The word in the passage that means ‘thrived’ is
SECTION B — WRITING AND GRAMMAR (10 MARKS)

2. You often notice people throwing eatables, wrappers, orange and banana skins in the
tourist spots all over; unmindful of the pollution they cause and invite criticism from
foreign visitors and tourists. Write an article on the situation and also mention ways to

conscientize the people. (5 marks)
3. Complete the following passage choosing the best alternative given. (4 marks)

One hot day in December, I (a) -------- been standing perfectly still for a few minutes

(b) ------- the dry weeds, (¢) ---------------- a slight rustling sound (d) ------------- from near my

feet, and glancing down, I saw the head (e) ---------------- neck of a large serpent (f) -------------

slowly past me. In a moment or two, the flat head was lost (g) ------------- sight among the

weeds, (h) ---------- the long body continued moving slowly by.



(@) 1. has 2. have 3. had 4. having
(b) 1.in 2. among 3. between 4. under
(c) 1. when 2. where 3. while 4. why

(d) 1. come 2. comes 3. coming 4. came
(e) 1. or 2. and 3. but 4. so

@ 1. crawl 2. crawls 3. crawled 4. crawling
(g 1. to 2. in 3. at 4. by

(h) 1. and 2. still 3. though 4. yet

. Complete the following newspaper report accompanying the headlines
by filling in the blanks. (1 mark)

a. BAN ON SMOKING

Smoking ----------------- in all public places.
b. GIRL KILLED BY LEOPARD
A girl --------eeeeeee killed today when a leopard attacked her at Sheetalakhet

area of Almora district, an official said.

SECTION C — LITERATURE AND LONG READING TEXT (10 MARKS)

. Read the following extract and answer the questions that follow. (3 marks)
The very deep did rot: O Christ!

That ever this should be!

Yea, slimy things did crawl with legs upon the slimy sea

a. Who is the speaker?

b. What does ‘the very deep’ refer to?

c. Identify the poetic device used in ‘slimy sea’

. Answer the following questions in about 30 words. (2 marks each)
a. Why did Patol Babu leave without taking the money?

b. What moral is Shelley teaching through his poem?

. Answer the following in about 50 words. (3 marks)

“I took a long leap from a child’s interest in fairy tales and toys to the appreciation of
the real and earnest in the workaday world.” Explain.

OR

How was Mr. Irons instrumental in boosting Helen’s love for literature?
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BASIC SCIENCE
Physics

I. Answer the following.

1.

Define absolute refractive index of a medium and write its mathematical expression.

[1]

Name the type of mirror used in the following situations and support your answer with
reason.

a) head lights of a car
b) solar furnace (2]

a) With the help of a diagram, show that when light falls obliquely on a side of a
rectangular glass slab, the emergent ray is parallel to the incident ray.

b)Show the lateral displacement of the ray on the diagram. (2]

A convex mirror used in a bus has a radius of curvature 3.5m. If the driver of the bus
locates a car at 10m behind the bus, find the position, nature and size of the image of
the car. (3]

Chemistry

I. Answer the following.

1.

Draw the electron dot structure of ketone having three carbon atoms. Also name this
compound. [1]

Write IUPAC names of the following compounds.

Cl
|

a) CH,— CH,— CH— CH,- CH,
b) CH,=CH-CH-CH,
I
CH,
¢) CH,-CH- COOH
|
CH
CH
|
d CH,-C-CH,

|
CH [2]

3

3

3



Write the structural formulae of the 3rd and 5th members of homologous series of
carbon compounds represented by the general formula C H, . OH and C H, .. COOH.

n- " 2n+l n- " 2n+1
[2]

Define the following terms giving examples.

(Two examples for each)

a) Isomerism

b) Functional group [3]
Biology

Define fragmentation. [1]

Give one example of a unicellular organism and one example of a multicellular

organism which reproduces by budding. [1]
Mention two functions of the human ovary. (2]
Write the role of Placenta. (2]
Draw a labelled diagram of the human female reproductive system. (3]
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SOCIAL SCIENCE

General Instructions.
a) There are 11 questions in all.
b) Questions from serial number 1 to 5 are questions of 1 mark each.
¢) Answers of 3 marks questions should not exceed 80 words each.

d) Answer of 5 marks question should not exceed 120 words.

1. Define Pressure-Groups. (1
2. Why is currency accepted as a medium of exchange in India? (1)
3. Write any one objective of the SEZS developed by the govt. of India. (1)
4. Which is the most indispensable mineral used in electric & electronic industries? (1)
5. What is the main contribution of the French Revolution to the world? (1)
6. “Democracy evolves through popular struggles” which political values are reflected by this
statement. 3
7. Define the terms Globalization & Liberalization. 3
8. Mention any three characteristics each of the formal & informal source of credit in India.
(3)
9. Describe any three non-conventional source of energy. 3
10. Why did nationalist tension emerge in the Balkans? Write any three reasons. 3

11. Why is conservation of minerals important? suggest four methods of conservation. (5)
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MATHEMATICS
I. Questions 1-4 carry 1 mark each. [1x4=4]
1. For what values of k does the equation kx?+6x+k=0 have real and equal roots?

2. Find the first term of an AP, whose sum of the first n terms is 3n2-n and common
difference is 6.

3. Which term of the AP: 5, 2, -1, ........ is -49?

4. AB is the diameter of a circle with centre O. If the coordinates of A and B are (2, 3)
and (-6, 7), find the coordinates of the centre O.

II. Questions 5-8 carry 2 marks each. [2x4=8]
5. Which term of the AP 6, 13, 20, 27, ....... is 98 more than its 24th term?

6. Find the nature of roots of the quadratic equation

3 1
V2 X2 x+—==0
J2© V2

7. If the point P(x, y) is equidistant from A(5, 1) and
B(-1, 5), then prove that 3x=2y.

8. Prove that the points (2, -2), (-3, 8) and (-1, 4) are collinear.
III. Questions 9-11 carry 3 marks each. [3x3=9]

9. In a garden bed, there are 23 rose plants in the first row, 21 in the 2nd, 19 in the
3rd row and so on. There are 5 plants in the last row. How many rows are there of
rose plants? Find the total number of rose plants in the garden.

10. Solve the following quadratic equation for x
pxi+ (p?- @)X - g*= 0
11. Determine the ratio in which the straight line x-y-2=0 divides the line segment
joining (3, -1) and (8, 9)
IV. Question 12 carries 4 marks. [4x1=4]

12. In a flight of 600 km, an aircraft was slowed down due to bad weather. Its average
speed for the trip was reduced by 200 km/hr and the time of flight increases by 30
minutes. Find the original duration of flight and speed of the plane.
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MALAYATLAM

. (en10Weedlas Mo LVBIWOV DTMOO HGVEEVNSIHTN L) . (2)
1 ald@3eelmoal ad)mMABmOo QIO (alGWOWo a@®? (H1MoQl, vlaiMo, MVELm@dalo, FlAIdVIATMO)
2. ————————- Ralloovlon) 2)6eaBmHe8 M1 0)68B)Be1SHN)aMN). BOE31e0d?
(w220, MO, MVIBYo, O™0)Ql)
3. BOWAIMO alBlRHNSIOWIW HAlWIG?
(adl. GO, MVEHCIW, Od. @Y |aleMlHed, GRAHICmO)
4. OMEBBBIOS MISIT MMM 00 AYS)HB6M @HININSH DNV} . DG HaISOODEM® ?

(MseemMaIB, &8lenymald, aleml §21QaNAId, &)S1ee)anaId)

1. ailalo1®alBo ag)9}®)d. ()
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(AlWOMo - (alB39Mo
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1 2)Q6sBu3 2. @WIQYEBaoo

VIII. aflwadla] quaomo MlAen o) s (2)
1. osasl 2. oyeoglajai

IX. (a16@OU0 2OQ). (1)

MO BRUDMVOMIBHO00@M @1B]ajolemMo
X. @RA@NAIL®I0MVo AIEIO® AlWSIANG: OO WGaHUWAIE: DO BOQ)d:. (1)
90818) MO 6MAlS5 HaIvleISla] @ISEB)IM MDSEEBU 21)0)EOR6M.
Xl. Q1@ OmI03 H®Q06NEE1T8 G100} D (1)
D0)BlH}MOOD AM}aUIAB o)DM 2lG1EH0M8 MVEINHlHHIM alClaflaf.
Xl qven136md: QIO S DOH6) . (1)
agaMloeal mneviRlall B)IvIaimeEBUd &:06emM)am). af)aloal agmIdl GO0 BaNIMMO0 DOAHU8 @O,
X1l 9OmM00 af)9}O)H>.
1 ‘@psS)omem’ ag)im SHAlODPEs @QYAVIOBMO GQI0OHE)&:. (3)

2. @R BIHWOS oflaTlad 80) Rlallmenglmim)Mewlo)an). @RPOYPS BIaH? aldOGAM? D @RE](AIVOTINM]
MLOW)BHOEMAIGEMI ald0RINC? QIlEIW)Om)d:. (3)

3. 2)OmoOeOS 1918 @oapalls iclay all3 oIV EN)Gla]
Qilvoa16: Glee) . 3)
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